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Problem 3: (30 pts.) In the circuit in the figure below, the power dissipated in the

3.00 k⌦ resistor is 108 mW.

30 V

R2

R3 = 3kΩ

R1

a. (10 pts.) What is the current through resistor R3?

b. (10 pts.) What is the voltage across resistor R2?

c. (10 pts.) The total power delivered by the battery is 270 mW. What is the resistance

of R1?
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Look at power for an alternate approach
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Problem 3: (30 pts.) In the circuit in the figure below, the power dissipated in the 
3. 00 kD resistor is 108 m W. 

30V 

b. (10 pts.) What is the voltage across resistor R2 ? 
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c. (10 pts.) The total power delivered by the battery is 270 mW. What is the resistance 
of R1? 1" _ ? 
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